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m 000000 (foating point number)
0000000000000 00IEEETMO0O0O0O0O0

1 Ty XT3 Ty m

e 0 OO (single precision)=4byte=14+23+8bit0n =23 + 1,—126 < m < 127.
0000000000 =2"126~1175x10738000000 ~ 227 x 2 ~ 3.403 x 1038
000000022 =1072240

e 000 (double precision)=8byte=1+524+11bit0 n = 52 4+ 1, —1022 < m < 1023.
0000000000 =271922~99295x1073%0 00000 ~ 2127 x 2 ~ 1.798 x 103°80
00000002’ =10'%90

(0)00000000000000000000 200028 =256=(127—(-126)+1)+2000000
000000000000000

m 00 (rounding)
oooooooboobuoobobob 00000

zr=z(1+¢€), |e|<ew0O0D0D0000O0O0O

em~ 1077000000~ 1071000000

m 00 (error) OO0
e 000D (rounding error) 0000000000
e JOOOOOOOODOODOOO

e JI0DODDOODMDOODOODOODO

m 0000 (interval arithmetic)
uboboobooooboobooooboobooooboooboa

xs € X = [z,T

000000000o0o000000000X+Y =[z+4+y,T+7].
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